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N.B. .— (1) Solve Question No. 1 on OMR sheet during the first half an hour.
(1) Question No. 1 is compulsory.
(111)  All questions carry equal marks.
(iv)  Simple calculator is allowed.
(1) 9% %% 1 7 OMR Sheet 0T HeamFal 318, ™EQS dfgen T&ida™
IB Y.
(i) WA FHHE 1 AR SR
(7)) EE YA FHE O SR
(fv) Y RIS IR A ST
MCQ 10
1. (1) In construction of a dam which method of costing should be

used ?

(A)  Contract costing (B)  Process costing

(C)  Operating costing (D) Single output costing
UM RG] IR DIV TGl araall difest 2

(A) 1 aReEA (B) fa=n it

(C) 9= aReTTH (D) Teheh IUREA IREIA
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Under contract costing ................. balance of plant is debited and ............

balance of plant is credited to Contract A/c.

(A) Closing and opening (B)  Opening and closing

(C)  Only opening (D)  Only closing

o1 UReTT gt e WAAET foTeeieh ool orEATell A & ST
""""""" feTeeTeh ST T&ATell STHT Shadl Sid.

(A) Ve enfor sef (B)  SWH=R anfor Y=

(C) e SR (D) el

Under process costing, cost per unit means ................

(A) a prime cost (B)  an overhead

(C) an average cost (D) all of these

oo Uferad 95 FevAd AR UM A eX TEURE

(A)  99H TR (B) Aferm

(C) wuEd == (D) =t Hd

In cement industry ............... method of costing is used.

(A)  Unit costing (B) Contract costing

(C)  Operating costing (D)  Process costing

e sgmma qReE ggdi=n SR shell ST

(A)  THA I gl (B) o ufemd ugdl

(C) ui=red ufiterd ugdt (D) forn wRer gt
Over-absorption of overheads in Cost A/c is to be ............. profit or cost

A/c in reconciliation statement.
(A) Added to (B) Deducted from
(C)  Ignored from (D) All of these
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TR A STTYeTard STTERIyol § GHe™ fHesaul Usenmed UReTd o=

.............. T?nﬁ
(A)  TEHE Hezel (B) THIGH T el
(C) TR T o D) Ta T

If cost accounting profit T 2,00,000, factory overheads recorded in cost
A/c % 18,000, factory expenses actually incurred in financial A/c ¥ 20,000,
then profit as per financial A/c will be ..............

(A) R 2,02,000 (B) % 1,98,000

(C) ¥ 2,18,000 D) T 2,20,000

SR UReAT Al A% 2 2,00,000 3R, R sifvery uRemw aeams
% 18,000 SrEfael, fafolt sifyey foxita eeamsd 3 20,000 Srafael @@ faxia

N oS N
AR A%] [endl SHH ?

(A) % 2,02,000 (B) % 1,98,000
(C) % 2,18,000 (D) T 2,20,000

Operating costing is also known as .............

(A)  Product costing (B) Contract costing
(C)  Service costing (D)  Process costing
afEred aieme & e A ST S

(A)  3URH ReIEA (B) o Uiemad

(C) e uieHTq (D) faen aiemzm

If total operating charges ¥ 20,000 and total passenger km 2,00,000,

then cost per passenger km will be ................
(A) 20 paise (B) < 1.00
(C) % 2.00 (D) 10 paise
P.T.O.
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SR TeRd REmed it ¥ 20,000 30T THT yaeit fhH 2,00,000 3T&d,
T ufa gemelt fedt uftem foedt 2

A 20 %9 (B) % 1.00
(C) % 2.00 (D) 10 &
(IX) e, is the verification of correctness of cost accounts.
(A) Cost audit (B) Management audit
(C)  Financial audit (D) All of these
"""""""" ® UReHT oA Sehdd HeATd .
(A) UREHA STher (B) HIEATTT SThaTo
(C) oTfYfeh SThetd (D) STt wd
(x After appointment, the cost auditor can assume his rights, u/s ...........
(A)  226(1) (B)  227(1)
(C) 228(1) (D) 229(1)
THUR AR TR ST &ThIal @ STEahR e YHTO STHERT AT,
(A)  226(1) (B)  227(1)
(C)  228(1) (D) 229(1)
Theory

On 31st December, 2017 when the annual accounts of the Rajesh Contractors

Ltd. were prepared, the position of a bridge contract which commenced on

1 January, 2017 was as follows : 10
3
Material purchased 5,95,000
Wages 6,87,000
Sundries 41,000
Plant dispatched to site 1,00,000
Wages accrued 17,000
Material on hand 24,000
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The value of work certified was ¥ 14,40,000 of which ¥ 10,80,000 have been
received. Work finished but uncertified was valued at ¥ 40,000. The contract
price was ¥ 24,00,000.

You are required to give an appropriate account in the contract ledger after
taking credit for any profit may reasonably be brought into account after
charging 10% depreciation on plant. Show how the balance sheet of the company

as at 31st December, 2017 will appear.

31 feder, 2017 AsH T FHi<aed fa. = aiftier o@n e 1 SHaRT, 2017

TSt FE sholedl Tl ST @elial Alfed! 3qeied Bl -

4
AR 'R 5,95,000
RSl 6,87,000
IETCaC) 41,000
SHT WM UBSfaciel 9a 1,00,000
e A 17,000
TEAY WU 24,000

THIU e Ged 3 14,40,000 86, <Ue! 3 10,80,000 I WHH UG STell. GOl
el TG WHIT 9 Seiedl s el 240,000 6. SFImE ged 3 24,00,000
B

THRIAT A Tl ST T TR hIAT 3TA THIR] ATl A df fohdl T T
FHIEAE AR O IREEEE S HIAER 10% G0 AhREA 3. 31 fedaR,
2017 Ui feercdfifaenor 8 e 7 e
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From the following information prepare a reconciliation statement :

Particulars Cost A/c Financial A/c
3 4
Profit 50,000 32,750
Selling overheads 8,000 8,000
Provision for bad debts — 5,000
Factory overheads 8,500 7,000
Director’s fees — 2,000
Income tax paid — 15,000
Rent of own premises 6,000 —
Depreciation 11,250 12,000
Share transfer fee received — 1,000
Administrative overheads 5,000 8,000
Treftel Hifedl a6 qHIEM faero TR U :
faewur TReTa o fa<ia o @
3 3

Bkl 50,000 32,750
famt Ao 8,000 8,000
JErd el qWS — 5,000
T e1fere 8,500 7,000
SEINEN D — 2,000
IR — 15,000
A= SURAE WS 6,000 —
RESIE 11,250 12,000
M TR0 J[eh U — 1,000
PRSI D) 5,000 8,000
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Net profit as per financial records

Net profit as per costing records

Works overheads under record in cost Alc
Administration overheads over recorded in cost accounts
Depreciation charged in financial A/c

Depreciation charged in cost Alc

Interest received but not included in cost

Obsolescence loss charged in financial books

Income tax provided in financial books

Banks interest credited in financial books

Store adjustments (credit in financial books)
Depreciation loss in stock values charged in financial books
Prepare reconciliation statement.

3T AR Y[ THI

IRy T AER S TH

IR A=A hHT SRR Ao sTfe™

Ued A S STehReiel] hiaed e

afeler AT TRl TSI

IR A SRRl STEeTul
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1,28,755
1,72,400
3,120
1,700
11,200
12,500
8,000
5,700
40,300
750

475

6,750

1,28,755
1,72,400
3,120
1,700
11,200

12,500

P.T.O.
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[Nl oSN o

fafremmeriicl = aftesa g&dehid wHifase et 8,000

HTATUE (Obsolescence) HRUM S &1, 3Tie oA SThRaet 5,700

IfYfeh @A SRR STHHT 40,300
o oreard fediemd siaoe stfeomehegd fraeiel =t 750
TR FHEESE e JEaehld FHIh T Ee 475
THYTAT AAGIMeS Aol ThaH STY®H ea SThRee 6,750
FHYE e qF .
Or
(fenam)

Amol Transport Company is running 4 buses between Nanded to Hadgaon,

which are 60 km apart. Seating capacity of each bus is 50 passengers.

The following particulars were obtained from their books for the month of

April 2017 :
3

Salaries of drivers and conducts 4,800
Salaries of office and supervisory staff 3,000
Diesel and oil 8,000
Repairs and maintenance 2,000
Tax and Insurance 3,400
Depreciation 3,600
Interest 4,000
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( 9) A—70—2018
Actual passengers carried were 80% of seating capacity. All the
four buses run on all days of month. Each bus made one round trip per
day.

Find out the cost per passenger per kilometre.

ST ATegeh HUA Aae O B]ME TR YAl 99F deeid. e o BeME B

AR 60 freNfTex 2R, Y o= argd &9ar 50 Yardr 2Te.

T 2017 a1 Aig=ar= Weiid Wfed! ™= JHhg] Suaed Sl 3T :

3
TR M el o o 4,800
FHATAIE S0 gIALT HHEAAE A 3,000
fegrar sfor sifeat 8,000
qEI ST WOy 2,000
* for fomm 3,400
37T 3,600
C2IE| 4,000

TALA B THTAT 80% T AMEgeh hLvAd el aidl. =R & 99 HigAanid

Td feaw =rafavae s 3Rd o Uosh o9 U feadrd o1 F Ju 3IIM WU

ol el IR

gfq yer ufa fopdl. aRem wiyA s

P.T.O.
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The product of a company passes through three distinct processes to completion

known as ‘A’ ‘B’ and ‘C’. From the following information prepare process

accounts : 10
Process
A B C
% R
Materials 4,000 3,000 2,500
Wages 3,500 2,680 3,300
Overheads 1,800 2,000 1,000

2000 units were issued to process ‘A’ @ ¥ 5 per unit.

Actual Output Normal Scrap Value
(Units) Wastage Per unit
Process ‘A’ 1920 5% 3
Process ‘B’ 1700 10% 5
Process ‘C’ 1500 10% 10

TehT HUAE SARA ‘31, ‘d’, ! A i AmaTTesn fasmgR qut el SI. Eeftel Higtdt

e faem @ TR w7 :

faerm (Process)
‘a3’ ‘o’ ‘w’
4 4 4
Sl 4,000 3,000 2,500
LS 3,500 2,680 3,300
st 1,800 2,000 1,000
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faem ‘s1" @1 2000 T @ T 5 Wi FHTO fHifH Hvad A .
Jeael Scara q S T Yo

(M ol coc) et
faem ‘a1’ 1920 5% 3
faur ‘9’ 1700 10% 5
faen ‘<R’ 1500 10% 10
Or
(feram)

Define the cost audit. Explain the nature of cost audit.

T ThafehTl Ared Ul Uy e WeY T .
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